1. For the product: 
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a. Make a colored diagram for the product using either base 10 blocks (from the SMART notebook or screen captured from a web applet) for the product.
[image: image2.emf]
b. Write out the solution using the expanded algorithm.  Indicate how the partial products in the expanded algorithm correspond to the parts of the diagram in a.

2. For the product: 
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a. Sketch a by-hand array diagram for the product.

b. Write out the solution using the expanded algorithm.  Indicate how the partial products in the expanded algorithm correspond to the parts of the diagram in a.

c. Write out the expanded algorithm solution and the standard algorithm solution side by side, and write or record an explanation of how they correspond, and how one can condense the expanded algorithm into the standard algorithm (as though you were using the expanded algorithm to teach the standard algorithm
3. Write out the solution to the following product using both the expanded and the standard algorithms (side by side) draw appropriate arrows/etc, indicating which partial products in the expanded algorithm correspond with which lines in the standard algorithm.
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